34.6.2

WD YRIDT VYR ORI nIn°M2 nNoon WY AT TINHH My BT

25a (1 mwp) 2 26b (75 725 ApoD 71193)

,7 4777 DYRY NPYYN R YR N NiYHAN NNR ANYYA PIRD DYN NIYL ROND NNR W) OR) .

1o, 4777 :DNRNY TIN2 DOR 1Y TYIN YRY NYY? 121 DHRHD Y27 DPPYYaR YRIY? 732 NRNYD YTPD YY 199 .

&2,10 ¥777 .. DNRHN Y29 DPPYYS 52 NRY HRIY? 112 NSIY 52 DR PHY NTINN) 'NN YYD YR YY VT ORY NR 1IDR 00 .
&5,00 72702 :72 MY RIND WOIN NIIN NI 190 NN NRY 112N 2T .

5,10 4777 7000 ' 2399 DPDRVYD YN DINR INVH DIYY 192 NI DA D .

25,75 72703 139 DT2 DR ’2 N2 79V TYR DT2 1927 KDY PIRYY PIRD NR 92202 RIN DTN 2 12 DAR TYR PIRD NR 190D KD .
n,47 £2727: 070 DY 1922 YRIY? 7Y 1193 P2 DT 100 YR) /D D71 YR TRV’ 707 19 .

n2,7 8777 (RO YR INRVN KY NAPI NNRA DY NPYY 11277 R2AD) ROD TYR INRVYN PYIR YTI0 IR .

™ N AN W NN

I 2 mwn: YR v's approach to "on nwr

a

b

C

~”7. a person may voluntarily bring »%n nwr any time — it was called n*1on Dwr

~V12 73 X122 would bring every day; n'non wouldn’t let him bring on day after >”"nv; wait until there was a pav
i Per:v.1-nywyn &Y WX (i.e. must be some violation to generate 2vn)

o7porr: only bring »on nwR for a pav about a violation that would be nron/nvs 277N — per mxn:mxn (v.1)

I Analysis of dispute nnan/x™

a

b

d

~77. if it was a n2n, why would he need to bring nkon afterwards (if he finds out that he did, indeed, violate)?

oo only DnYw1 N5y are brought N2 9M1a — R is brought to protect him from heavenly punishment in the meantime
i Question (»wx "15): perhaps n"x is like DnYV1 N%Y — can be a N2, but also be brought as nam

ii  Answer: DnYw N5y are fundamentally mam; they also have nam-occasions; n"R is fundamentally a namn

N1 (before #37): n"R is brought for n%2) pao

i Challenge (¥37): Dn2N require NRVN 1N; 8™ requires nothing (can even be brought namz)

ii  Answer: 027 told Rin — this is X" of "% IR (per RVIZ 12 K1)

N7272. 5 MNYR (MYYN 19N NNaw ,mb>n 1 ,ynxn) have complete n193 (no other n193 afterwards) unlike n9n WK

I 7 mwn: impact of 2”7 on MROM MNWYR 721NN as opposed to PN MNYR 727NN

a

If: someone was DWRI NRVN 2NN and 2"ny lapsed - still liable
i Source (777 77): v. 2 juxtaposes DYWA::DIRVN; just as DYWA (T1n) don’t generate 127p, so DRYN that don’t generate 127
1 Challenge (»73x8): v.2 is about 01191 nwYIN VYWY, which only covers “unknown” ny1ay; perhaps nYnwnn 19yw is 1991
ii ~ Source (»aN): v. 3 — the nonwnn VYV (same W0 > only wron that aren’t 129 711 are expiated by nynwnn YY)
1 Challenge (7077 77): perhaps the nyws are those (4) that have 129p (X:2 mn»2)
2 pa7 came from »"R with same source as »aR, who then challenged him with »m»7"7’s challenge
(a) Answer (37): majority of n'pywa are not expiated with 121p
(b) Challenge (»735): doesn’t state YW 217
iii ~ Rather (»2ax): from 1t half of v. 3 — mmy:ywa (per v. 4) > %3 identifies DYwa as the whole group (j27p 212 18)
But: if n"Ra 2N and 2"nY came — VA
i Source (87): v.5 - those sins known only to ’n are forgiven
ii ~ Suggestion: we could have answered the first question (why PRT mnwry mRon aren’t “covered” by 3"nv) from here
iii 427 nvpYn »a»n are not “covered” by >"nv
1 Justification: we would think that mxvn are liable, as that is a financial outlay; but man are qun w2 - 9"np
2 Challenge: if so, 15y pav, Y¥N pav, 11 pav, NV and navIY % should be “cleansed” by 2”1y and be exempt
(a) Answer (x2yw1173): v. 2 indicates expiation of nnxvn, not oNRMY
(i) Challenge: in each case, there is a “sinful” background (nvyo and navy n%y are obvious)
1. 7751 per »"2v7's observation about her oath during childbirth
2. y1yp 1 '7’s “list” of 7 mron that lead to nyy
3. P2 79pn MYYR 's identifying 1 as a sinner
(if) Answer: in each case, the 129p is brought to permit DwTp NYIR, not expiation
1. answer (»228): in case of NVIL and NYY, the sinner (adulterer or murderer) does know
(iif) /7v70: brought to prove her innocence
(iv) m9r7v 75y brought to bring expiation to Land, which, per v. 6, cannot happen otherwise
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IV Further discussion about role of 2"nv: based on premise that it expiates for sins known only to 'n

a

0

Proposal: oron of which the sinner only became aware after 3”11 should be “cleansed”, since only 'n knew on "1y
i Block (¥7pr 77): extra "ny»” written in re: X201 (it is written in nRon nvYIa of T, XMW1 and May; RV is superfluous, as
we could have inferred it from 7n> and 1ax via wwxn nn1) extends to sins committed before 5”71 that only became
known to sinner after 2”nv
ii ~ Challenge (77a8): w1 wouldn’t have been inferred from Tm+mnay;
1 Reason: we would have challenged that Xw1 is a non-static identity
iii ~ »ax: we infer all mxron from each other via myn::mxn
1 Therefore: ny»p isn’t necessary except in one = used for a case where he found out after 3"nv
iv  Proposal: 2"nv doesn’t “cleanse” for nron — even when he found out afterwards; it wasn’t aimed at that action
1 But: n9n nwk should cleanse, since it was brought for that action
2 Answer (837): P9R YT IR (in T’ nRYN) — in any case, when he finds out, must bring nxon j117p
(a) If so: why bring n9n nwr
(i) ~7r71in case he dies before finding out, he dies without that sin
1. Challenge (827): death itself is an expiation
(if) ~27itis brought to protect him from pm10” (in the meantime)
If: he had nxvn pav happen on 2"y itself — even at the end of the day — exempt, since entire day is 7991
However: if a woman had (n79) paon 91wn nron and 2"y passed, still liable — its function is to permit her to eat mwTp
If: a ywn nron is brought for pav and after np>on she learns that she is exempt — it is buried
i 37 and it works as N9
ii  Question: if so, why bury it?
1 Answer: itisn’t guarded (by 0", since they know they won’t be eating it as pao nxon)
(a) Challenge: while alive, it needs no nvnw; afterwards, they are watching it
2 Rather: in this case, she learned that there was no n79, the bird should be nxrina amn
(@) The burial: is obligated only 12270
iii  But: 17’s statement was about a pao nron - if she found out that she had had a n1%
1 Before A5 let it be completed properly
2 After ap2om: dispute any /29
(a) 27 let him do »n¥n and eat it (and it effected n193)
(b) a2 /3. forbidden from eating — so people don’t think that pavn Y» nRan gIyn nron is eaten
3 mm»x supporting 11 (from »%’s w111 N*1) and supporting 13N 1
(a) 27 exactly as above
(b) 7ar112 /7. as above; if after np*9n she learns that she gave birth, it is nRina NMoR
(i) Reason: it was brought for pav — it accomplished the n193 for pao
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